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Term I – Answer Key
REVISION EXAMINATION
DECEMBER 2023 - 24 
Key Stage 3 (Year VIII __)
Date					:	     December 2023
Name of the Candidate		:      _______________________________________________
Subject				:      ICT Paper 1 – Theory
Total Maximum Marks		:      80	
INSTRUCTIONS 
Answer all questions.
Use a black or dark blue pen.
Write your name, centre number and candidate number in the boxes at the top of the page. Write your answer to each question in the space provided.
Do not use an erasable pen or correction fluid.
Do not write on any bar codes.
You may use an HB pencil for any diagrams, graphs or rough work. 
The total mark for this paper is 80.
The number of marks for each question or part question is shown in brackets [ ].
No marks will be awarded for using brand names of software packages or hardware. 

	Section
	Maximum Marks
	Marks Obtained

	A
	28
	

	B
	34
	

	C
	18
	

	Total
	80
	




Checked by       :  ____________________________

Re-checked by  :  ____________________________
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Software is programs and data

Programs for controlling the operation of a computer
Programs for processing of electronic data

System software
Applications software
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computer

cu Gul
The user has to type in every instruction v

The user does ot need to learn any of the .
instructions

Each instruction has to be typed in correctly v

The user is in direct communication with the .

Two marks for four correct ticks
One mark for two or three correct ticks
Zero marks for one correct tick
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Questionnaires can be given to userslemployees
Checking documents from the current system
Observation of staff/users
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Health problem

Possible solution

Reading from the
‘monitor in poor
lighting

Headache/eye strain

Use anti-glare screen
Turn the screen 90 degrees to
the window

Improve the lighting

Using a mouse for
prolonged periods
of time

RSl/pains in
fingers/wrist/Carpel
Tunnel Syndrome

Use a wrist rest

Regular breaks

Use a trackerball/ergonomic
mouse

Hand exercises

Sitting too long in
one position

Back ache/neck ache

Use a footrest
Taking breaks

Use an ergonomic/adjustable
chair

Sit with correct posture/straight
back

Maximum of one mark per box
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ROM cannot be changed/permanent/RAM is temporary memory
RAM can be read from and written to
RAM is volatile/ROM is non-volatile

ROM is read only memory and RAM is random access memory \

ROM stores BIOS/program cycles in a washing machine/program instructions in games (1)
RAM holds the data currently being used by the user (1) \
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Documents do not need to be taken to a central meeting; they would not be
lost in transit

No need to transport heavy documents

The conference can be held at short notice

Reduces the cost of travelling to the meeting

Reduces the cost of venue hire

Reduces the cost of hotel accommodation

Reduces the time lost in working due to travelling

Safer than travelling

Reduces the cost of paying workers whilst they are travelling

Three from:

There could be time lag in the responses

Time lag in pictures producing jerky images

Lip Sync can be an issue/matching sound and image
Explanation of time zone differences

Training of staff to use the new equipment can be costly/time consuming
Requires good network connection/good strength of signal
Power outages have a greater effect with two venues
Additional hardware needed is expensive//cost of set up
Difficult to sign documents/contracts

Physical objects cannot be examined/handled
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Smartphones are more portable

Smartphones are lighter in weight

Desktops cannot be used on the move//desktops need surfaces to work on
Smartphones have integral devices//desktops have separate keyboard/monitor
Smartphones can use 3G/4G/5G communications link

Smartphones are battery powered//Desktops require a constant power supply
Desktop requires extra hardware/software

Desktop computers have a larger screen

Desktop computers have a larger keyboard

Desktop the footprint is larger

Desktops more powerful

Smartphones have more chance of being damaged/stolen as they are portable
Smartphones tend to use modified websites//desktop can access more
websites
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Advantages

Fingerprints are unique

More accurate data entry

Improved security

Your fingerprints are with you all the time/cannot be lost/ID cards can be lost
Student needs to be present at the reader

Magnetic cards can be affected by magnetic fields/smart phones

Very difficult to clone unlike cards

Max three from:

Disadvantages

Takes a longer time to collect all the fingerprints and store them rather than
producing ID cards

Equipment would be more expensive

Damage to the finger/reader will give false readings/no reading

Invasion of privacy

Three from:

Iris scan

Hand print

Facial recognition
Voice recognition
Retina scan
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OMR - Optical mark reader/recognition

Example — Lottery tickets/multiple choice answers/reads marks on papers
MICR - Magnetic ink character reader/recognition

Example — Cheques/reads the data from the bottom of bank cheques
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An item of hardware

It carries out the instructions of a computer program
It performs basic arithmetic calculations

It performs logical operations

It performs input/output operations of the computer
It contains the internal storage/control unit
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Sal naV/GPS 1o help the driver travel between o points
Auto-parking systems

Automatic windscreen wipers that operate automatically
Cruise control

Lane dif systems

Automaic braking systems/ABS

Tyre defation alert

‘Automaiic ights/ighs that shine round comers.

Frost warning system

Fuel level indicator

Hand.brake lert

Atbag systems

Automatic maintenance alert

Expert ciagnostic systems

Aulo-gear change systems

Advantages

Max four from:

= T ooy bocomes a o saer 2 thedrer s o dvios t hl,whis ey
s on driving

Ifthe driver fals asleep then the car remains in control

1fthe temperature s colder outside then the windscreen clears quickly

The ABS stops the driver sling on ice

‘Automaic (fu beam) ights stop other drivers getting dazzled

‘Automaiic ights (full beam) shows the road ahead i difierent conditions

Costof repair reduced as it tels the driver of problems immedataly.

The GPS can guide the diiver on shortesUquickest route

Disadvantagos.
Maxfour o

“The driver relies 100 heavily o the devioe and can become over reliant/You are
legally responsible for the car

‘The device may fai and put the driveripedestrians in danger

‘Sometimesthe device is more ofa hindrance than a help ¢.g. parking sensors in
traffc jams.

Can increase the price of the car

Very difficult or the diver o repair the car himsef

‘GPS can take the diver a long way outof is way when trying to avoid hold ups
“The diiver can belleve the GPS and drive into the river/narrow 10ad

Air bags can accidentallytigger is there s a smal collsionfthey have a ffe span
Excessive number of devices/devices left actvated can lead to battery drain

‘Allow one mark can be awarded for a reasoned conclusion.
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Similarities

They are both used to store data
They are both mass storage

Both can be secured by passwords

Differences

Internal backing storage — physical storage in the computer
Internal backing storage — the user has control of the storage
Cloud - automatic backup takes place

Cloud - only pay for what you use

Internal backing storage — only initial cost is required

Internal backing storage — difficult to expand the storage
Cloud - can be used on different devices

Cloud - needs access to the internet to be used

Cloud - due to duplicate copies more chance of the data being hacked
Cloud — more chance of it being hacked as it is on all the time

Max five marks if only differences have been given in the answer
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Microprocessor controlled devices do much of housework

Do not need to do many things manually

Do not need to be in the house when food is cooking

Do not need to be in the house when clothes are being washed

Can leave their home to go shopping/work at any time of the day
Greater social interaction/more family time

More time to go out/more leisure time/more time to do other things/work
Are able to do other leisure activities when convenient to them

Can lead to unhealthy eating due to dependency on ready meals

Can lead to laziness/lack of fitness

Can encourage a healthy lifestyle because of smart fridges analyzing food
constituents
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Similarities

Both WiFi and Bluetooth use wireless communications

Both WiFi and Bluetooth use radio frequencies for communication/radio waves
Both WiFi and Bluetooth allow several devices to be connected

Both use security when sending data

Maximum five from:

Differences

WiFi has faster data transfer rate

WiFi has a greater range of transmission

WiFi uses key matching encryption

Bluetooth uses WEP and WPA security together
WiFi can be broadcast

Bluetooth has more channels

Wifi connects more devices
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LCD monitor
Laser printer

DVD RAM drive
Blu-ray disc drive
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Hard disk v
SD card v
CD ROM v
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